| N of associated (recoToSim) looper tracks vs dxy |

[\ of associated (recoToSim) tracks vs dxy |

N of reco track vs dxy

30

n
N = —_
£ . =
Qe : A
> . o N
P R R e R IR <Ko
3 %
o C M @
— F S A N S S o =
= e —
o 2
H
8
) L3 [ R TP P PPN S P AT S NP PP o
2
B H o
o B proarrrem e i e —
= [ |
! <
LD o
i A A S R P <
I<) 3 . )
S| .
e |3 L2
) 8 - 31
c s 5
sxoen aredidnp —
o

FPRTRYTN

track dxy (cm)

0 5 10 15 20 25

10 20
track dz (cm)

0

-10

-20

-30

syoel axey

-25-20-15-10 -5

10

0.95F - -- -}
0_

0

20

track dxy (cm)

track dz (cm)

-25-20-15-10-5 0 5 10 15 20 25

[N of associated (recoToSim) tracks vs dz_]

n o
o= o =
£ £
(=& + S
S * &
> e OZ
g NS
1k W
o s
= 8 o =
= i
o
o frrebiemeveccmmoesan s s e L SR o
i
o
o 3| o
W g
10
bl Il M o
| @ N
S 5 . )
) 3 :
< 2 L o
pt >
5 gss |35 L
- Z o

syoen




	Contents
	Page 1


